- — — — 000T — 0007C — 000°C — FHBUSFHUE E4
— — — - 4 ~ 4l — 74 — HIGREITFES
— — — — ZaN4 — ZAN4 — ZaNd — hEEWEEES
— — - — GI¢ Gl GIS 9 16 Sl HEEusi
- — 0r9°¢ S R0%°ST €Il 370°6C 3TT°T 870°6C STI°T CE XA
- — 0r9°¢ S €76'ST 6C1°T £95°6C €er'T £9G°6C cer'T X E R
— — — — - — — — - B N EE £ 3L 2
— — 7L9°8 - 78T ¥ST SOL'6 68791 S0L'6 ¥$8791 GOL'6 S E Y
L0€T YT LLY'LT 15T ¥8L°6C ¥8G°T Y8L6C ¥85°T NS s W R
— = = = - - - — — — NWEEEFHT
- = = = — = — B B = EYhin
- - — — — : — B - = eULL
— — TLL]9 - TL0°SSO'T  [STTLvT TRETLT  |SITLYT weETLT  [SITLYT Yoy £
- — - - - — — — — — M EX
— = ¥79°¢ - 765°0€ 18LC 91T HE 18L°C 9IT¥E 18L°C Uk L&
- ~ 69G°T — 1€1°891 1/8°61 00L°69T 1.8°61 00L°691 1.8°61 YWE ST
— — 799 ¢l 76561 ¥SC61 €ST0T 99661 €5T°0C 09G°61 U BB
= == = = = = = == = Mm ®m
— — 0€TT ¢l CTLLST YIv6¢E £56631 LEY'6E €56631 LEV6E KT
— - — — — - — — — - YN TR
- ~ — - - - — - — — U 55 5
— — €Le 6 ¢62°01 G 99901 Al 99901 Yev'l W3k dg
— — 651 ¥ SETY9 €79 6659 LS9 G66 59 LS9 U S a3
- - — - - — — - — - W ¥
—~ - V8 é 696 ¢ 0¢ €S0y 43 €S0y € WEY
- - Tr8°9L 36 ¥88°'166'T  |65H 161 97L°890°C  |LSST61 97L°890°C  [LSST61 e U
- — 88TSHT I81°€C 0LV'S88°9  |TEESES 8CLOST'L  [¥1S78SS RCLOETL  |¥1S°8SS 2 lldw
— 887°CHT 181°€T 9%6'876'9  |T€£9ES YERCLI'L  |P1S6SS VERCLTL  [F1S6SS LESLIEH
iz ¥ H Y| £ £ H Y| 42 ¥l H Y| £ £ H Y| 4 ¥ H ¥ " 5 w
N M| MHE E TN %W F Y| (EEEEHS YY)l J X3
VU LhFH: TE HITH90IEY # 4
fals Ve
a7 B et
2-10-00-7060¢ Y ¥ WYY R YE—+ EwEHELHY | % H
WO BT | MR - N




Heg

— STT'LLL'L  |S6T°199 STT'LLL'L  |S6T°199 BT +HES VT
— 69L°C- STIC6E-  |69L°C- STI'S6E- HHET
- v66'6LL°L  [0TV9SO'T  [¥66°6LL°L  |0TF9SOT LA
— — = = = N E N

— — — - — — BYWEFHHE L M@
— — — = — HEFEEEVEH

— — 000°0S - 000°0S - Y BB

= = = = — — I EH YIS EEY

= . Ly¥'e - Ly'e - HERYHH EaEYh

— = €179 9069 €1L79 9069 (EYIh %L )Y G

- - — — = — £ 5 3 %

— — 091°9T1 9069 09T°9T1 9069 YRhEEUEY

- - 000067 000°06¥ 000067 000°06% B

~ - 00006V 000°06% 000°06¥ 000°06¥ HEHR LW

- — - — 390'1 000°'T 890°'T 000°'T 390'T 0001 @83

- — — — — — = — — — B4 ¥k

B — - — 3007y - 800°Ty I 800°T — Be¥Fu

— - - — 9L0°¢y 000°T 9L0°CYy 0001 9L0°Cy 000°T 3 F b

— — - — 9.0'¢y 000'T 9L0°¢y 000°T 9L0°¢y 0001 e LY E

B - L6 - 6YL°€ET 6L6TT €TLYET 6L6'TT €TLYET 6L6'TT R E

- — — — — — — — == — % EEU S H

— - - — 01¥°GT - 01¥'$Z - 01+°6Z - X B YO EE

- — - - - - — - — — Vel A

- — £68'7S1 976°7C LYty |609°81€ CLSLLSY  |SSSTHE CLSLLSY  |SSS THE N HT

- — €68'7S1 67T TLYTy'y  |609°81€ GLSLLSY  |SSSTHE CLS'LLSY  |SSSTHE e h i Y

— — - = F — — = = ERIECR

iz £l H Y| 4 £ H ¥ 4 ¥l H Y| & £ H Y| & ¥ H ¥ 1% g "

Y E B H Y EE | %W Y| (HMgse )| J £

YL hFh TE HITH90IE % &4

(T8)% Sher 0 Wi

¢-10-00-2060¢ ES ¥ YHYH - FUYG - YwhaL—HY | %

H
YRR EE | WWEY %E«




B — ~ B — = — — = — T 9 ¥ deip Yo
— — -~ — L7618 [¥0'8 [T1GI8 V03 L71°G18 V08 F ¥ N Sidesry o
—~ — - — L7161 V03 LTTST8 708 [T1°GI8 708 T ¥ de sy Tt
B B 7056 86L Akt 8671 979°LST €8L Gl 979°LST €8L°ST FYX RS
B — 6 — 9LTS Sy C8T'S ¥Cy 8T Sy Fr¥EaAw
— — 1156 86L 00V €51 657G 1167291 LET91 116791 LETO1 PRy SRy YEaH
- — = — 68157 03T1T £68°L5T 08TVC €63°L5C 08THT FXLEE
- - - — 396 11 el 896 11 TrET 896 11 ol T EXYE
= — 1L7'¢ — 91Z°€19 635 Sy £89°819 635 Sy £89°819 635 Sy ¥ Sl e
= = - — 1SC1L €9°L 16E1L 7€9°L T16E1L 9L B ¥ g8
- — — v60°6¢ 186°€ V6065 186°€ V60°6¢ 13G°¢ T EEE
— 1LY°S — 70566 9Tv'T8 £66 366 978 €66 366 9Tv'8 ¥ ek E
— — 9¢c Tl €06 ¢C €8CSHT T0£01 61LL5C V0T ¢l 61L15T V0T €1 T X AWHET M
— — — — B — — B — FYXBX
— = 9¢G°3 6 L1005 O €19°8¢ 185G 198G 185G FX T
- — 9%S 0T1S°0ST 96591 950°1ST 96591 950 TS T 96591 EEERN|
— — 81V 1C S5k 0L6 Sv VS 1€ [3€10v 93€°GE L3¢ L9V 93¢°GE X WHTH
— — 1287 V- 0LEVIT 0L091 161611 19091 161611 £90°91 B¥ X
- — = — T1SST ST 1 T18°CT ST 1 11861 STT 1 B X st
— — B — 1166051 |celvel 1166051 |ZelvEl 116651  |Celvel FX )
— — 1287 V- 600991  |LTy1ST CI67991  |ver 161 C16799°1T  |ver 161 FXUXHEHER
— - 709 8¢ 19,96 SITLI S9¢'L6 A S9C'L6 CIcLl ¥
— [\ — cov Ty Vr3EE cCC iy YY8ES ceSriy VP3EE T =y
— - L10T — 603°€ST 1981 978°CST 1981 973°GST 1931 ¥ 3y
= - 0LL — 963011 18011 999111 18011 999111 180T R A
— TS 8¢ 656 503 190°SL 06£ 608 SOT'SL 06£ 608 c0T°GL Y e —
— — G815 8.9 630565 |0S89v¥ SLVT009  |6CS 1Sy CLYT009  |6CS 1Sy AL EF
— = VL88VS 66 €€ 9LLS6€°9  |C90°TIS 0S9%7¥69  |950°SHS 0S9%¥6°9  |950°SKS 2L LIEH
12 ¥ H ¥ | {2 ¥ H ¥ | 4 ¥ H ¥ ¥|H ¥ | {2 ¥ H ¥ 1 . w
FY EEMH | FYF | F Y W & | (BEMEESY)| 2
YL EEy: UE HITH90IEM # 4
(0%) ¥ Yhar < Skip
2-10-00-2060¢ B ¥ WY —H Y-+ HWEELHY | % H
T g Ok e | Mt WO 7




— — — -~ — - — = = FYEYER
- 0£5°C B 100°01 6767 0£5°Tl 6767 0£5°Z1 6767 R ITET 5
- — — — —~ — — — = EX Y WETHHE
- yTL701 0S1°C 6V TI1 065°S €L]ETT OvLL €LYETT OvL'L FEXEX
- SYO'THT PCYI €31°00T L0611 LTV 967°9C RTTTIYT 967'9C TEET
— — R9L°LET 78¢'8 196' T 600°L 0SL'6LT 76¢°S1 0€L'6LT T6e°S1 GEE T
- LESTIRE 188%¢ Y6C°€ST 90S+C 1€8'7£9 L]C°6Y 1€8°7€9 L3E'6Y RSy
- - 128°0% 6L 6067 €9 0EL'Sy YLE'T 0ELSYy vLET F¥arx
— - -~ — 10 - 107 - 10% — FEHFH
- - - - €189 122°0T €I89L 122°0T €18°9L 122°0T ¥ Y%
- - 1280 6L T8 95807 6Tl G6S'1T yr6TCl G6S°1T FYUXHFHER
- - - L19 66 L19 66 L19 66 R E
- - 6£8 - TLT0T Gl [10°T1 GeT'l T10°T1 GET'T SRy
- 0ST'TI - 98L°C 980°C 9¢6¢1 980°C 9¢6°¢T 980°C & ¥ Ly
- — - - 696'¢ G8LT 696°C GRLT 696°¢ G8LT Ry HL B
- - 63611 S Y019 £656T Y019 €6S°6C #01°9 O ST —
- — 689°06¥ 91¢'6C L&Y S¥Y 1149 9L1°TY6 LTS°€6 9LT°T¥6 LTS'¢6 LIy E
- — - - 1Ly 0L0°S 1Ly 0L0°S 1Ly 7y 0L0°S EY W
= = = = — — — — = - F¥ @y
= = = = = =: = - = = ¥ g ey
— - 1027 - L86'TY LS6'T 831°LYy LS6'T 381°LY LS6'] EY e Y E
- - 1027 - L6°TY LS6'T 831°LY LS6'T 831°LY LS6'T FE sy @y
= — = - - = — — — TX4£ebyeE
— - €ee'e - 0¥€9 — €L9'6 - £L9°6 — FX e ey
— - €ec'e ~ 0r€9 - €L9'6 - €L9°6 — F D
= — = - 177786 LLSL 177°786 LL8'SL 125786 LLY'SL TE¥¥E
2 ¥l H Y| £ H Y| & £ H Y| {2 ¥ H Y|+ £ F ¥ i s i
TEEE M| F Y EF | Y W O+ Y| (HYEEHEY )] de £
VY LhELY T HITHIBYME# 4
(C% ) F Shar 7 b hip &
¢10-00-2060C 3% ¥ HWEHYH —HYXUY -+ Wyl LY | % H
WY s | Ry B M




B EYFEHHEH Y I Y YU TEHaY Y
bW TEHME TS EHEB T NET | BT YW R FST el B Yy g
CHBY] cMETHYFY]  (FHEB) VLB REKTY] YeRwI Y T : e
HG¥E CHMHE T T YN L (b)WY I Wk
EYLYBHE
By Bl HZIHFIEY £ 4 RNk HYEF¥% GE ¥
= 068°STT 068°CTT HHERE T WY
= LSy LESY WEXHUY : of
- STTLLL'L  |S6T°199 STTLLL'L  [S6T°199 Sy eWEY
= = €SETIT €GETIT €SETIT €GETII by
- TL8'S99°L  |Tve'6vS  |TL8'S99°L  [Tv6'6vS EHEY
= = — — - — FYXREBEY
- B - — — FYWL LW FEY
= = 8ETTE 9.8 8€T°TE 9.8 MY BNE
— 86'8€ 01 ¥36°3€ 01 WNEE LU ER
— - — = — — EH By
. = 12T 1L 988y Zan 988 FYXgEw iy
= - 0007059 — 0007059 - R 2
= = 000059 = 000°059 B FYXgaa g
- - 899°9¢ 969°C - - 899°9¢ 969°¢ 899°9¢ 969°¢ FENE
— - ~ - — — — = — = FXwEy
— - — — - - — — - - FY sy
= — - - — — — — — = Y EuEs
= = = = = ~ = = = = Py EWYEY
= = S0EY - 160°5C 88S 9¢€°6T 88¢ 9£E6T 886 BYE
= = 0381 - ¥95°CS 66 covyL 666 cOrvL 66'S By RN %k
- - — = 1661 917 1 1661 91T 1661 917 1 Y yE A
= = 0831 = 6V LS 60T L VEE9L 60T L YEE9L 60C L Py Ry SEYyYEaw
- — — - 679°L L9 6v9°L LY 69°L L9 FXBHHE
— — — — = = = = = = FTEEEYE
- 0£5°T 15€°C 10€ 1887 10€ 1887 10€ 0% S [y s
~ - - — - — = = = = X WuET
12 ¥l Y|4 ¥l ¥4 ¥l H Y| ¥ F Y|4 ¥l ¥ i . w
FY 8 M| FY¥FRw|% ¥ ¥ & ¥ (eS| <
YL4Fh: TE BT 90TE Y # 4
(ETE)F Fhdr 0 i
7-10-00-2060¢ ¥ ¥ WY —F UG -4 WL HY | % B
WA MO | MY ¥ oM 9




